Summary

The experiment will have two parts.

Part 1 will consist of 15 periods. Once these 15 periods are completed we’ll give you
instructions for Part 2, which will consist of 5 periods.

At the beginning of each round you will be randomly assigned a role: BLUE, RED or
GREEN member. You will take on all three roles during the experiment.

The task of the group is to make a decision for two points: the group selects a value
for Point A and another value for Point B.

In each round a computer randomly chooses two points: ‘Computer Point A’ and
‘Computer Point B’. Each is drawn by rolling a fair 360-sided die.

Members BLUE and RED see the values that ‘Computer Point A’ and ‘Computer
Point B’ take and make recommendations to GREEN, who is has the role of making
the final selection for the group.

Members of the group differ in what their optimal outcomes are. The GREEN member
would be best if the group selected exactly ‘Computer Point A’ and ‘Computer Point
B’. However, the GREEN member does not get to see the values that those points
take.

However, member GREEN does:

— Receive recommendations from BLUE and RED,
— Knows how far away BLUE and RED’s best points are from GREEN’s.

For all members payoffs are highest if the final selection is equal to their best. If the
final choice of the group equals your best, then you will receive $20 for that round.
Your payoff decreases as the distance between your best and the group’s choice is larger.
The table on the next page explains your payoffs in detail.

At the end of the experiment, 2 rounds will be randomly chosen for payment and the
amount you won in each of those rounds will be added to determine your final payoff
for the experiment. Thus, you should treat each round as a round you could be paid
for.

When a new period begins you will be randomly rematched with other participants.
In every round a new random group is formed.



00'¢$ 00°¢$ 0098 00°9$ 006 00°¢$ 00¢$ 06
00°¢$ 00°¢s 00°¢$ 00°9s  ¥9'9$ 0OV'9% L99§ <L
00°¢$ 00°¢$ 0098 L99% L08§ 106§ €635 09
00°¢$ 009 L99% 6988 6£0I$ LGTI$ 00¢CI$ 9G¥
00°¢$ 79°9$ 2088 6€°01$ 9rcli$ FOTVIS L9TVI§ O€

00¢$ 0798 106% LST1I$ VOVI$ €C9L$ €€LI§ <1

VY JUIO ] 1S9¢ WIOIJ 90Ue)sI(]

00°¢$ 299§ €€6% 00CI$ L9VI§ €E€LI$ 000cs O

06 GL 09 av 0¢ aT 0
q U0 1S9¢] WO} 90URISI(]

:9[qe], poLeq

"0¢$ ST 9sour 9y} ‘GG ST oyjew Urd NOA 1se9[ o) 08 ‘CT¢ e padded ore $1500 oY,

54
mAm 1seg WOIJ 9ouR)SI(T) + NA< 1o WOIJ 9ouR)SI(])

x 8¢ — 02$ = podeq




